HEXMER @mwasanm (B : F)
*E HEE R E =& 5%

I EEDE
1. RBERE 2,437,262 3,259,438 -822,176
HETEE 2,437,262 3,259,438 -822,176
2. BIEEE 10,000,001 14,000,001 ~4,000,000
(1) &K E 10,000,000 14,000,000 -4,000,000
(2) ZDMEEEE 1 1 0
EEY 1 1 0
BEESRE 12,437,263 17,259,439 | -4,822,176

I 8EDE
1. RBEE 0 0 0
HEYE 0 0 0
2. BEAE 0 0 0
aEast 0 0 0

Il 1F BR BA E OD &R

1. 5T IERKRBAE 10,000,000 14,000,000 ~4,000,000
FitE 10,000,000 14,000,000 -4,000,000
OLEKRBEADFTHEE) 4,000,000 4,000,000 0
OLBREREADTLHEE) 0 0 0
2. —fRIERBREAE 2,437,263 3,259,439 -822,176
(OLERBE~NDFTLHEE) 0 0 0
OLBEEREADTTLHEE) 0 0 0
IEREtESET 12,437,263 17,259,439 -4,822,176
BERVIEKRBMESE 12,437,263 17,259,439 | -4,822,176




